

<b>Eight minus One equals Seven</b> Write the sentence using subtraction with – and =	<b>Seven take away One equals Six</b> Write the sentence using subtraction with – and =
<b>3 is subtracted from 7 is 4</b> Write the sentence using subtraction with – and =	<b>8 take away 3 are 5</b> Write the sentence using subtraction with – and =
<b>Six subtract Two equals Four</b> Write the sentence using subtraction with – and =	<b>One is subtracted from Three equals Two</b> Write the sentence using subtraction with – and =
<b>4 is subtracted from 5 equals 1</b> Write the sentence using subtraction with – and =	<b>10 minus 5 equals 5</b> Write the sentence using subtraction with – and =
<b>9 minus 1 is 8</b> Write the sentence using subtraction with – and =	<b>Seven minus Four are Three</b> Write the sentence using subtraction with – and =

<b>8 is subtracted from 9 are 1</b> <b>Write the sentence using subtraction with – and =</b>	<b>Two is subtracted from Five are Three</b> <b>Write the sentence using subtraction with – and =</b>
<b>Six minus Five equals One</b> <b>Write the sentence using subtraction with – and =</b>	<b>1 is subtracted from 3 equals 2</b> <b>Write the sentence using subtraction with – and =</b>
<b>9 subtract 5 is 4</b> <b>Write the sentence using subtraction with – and =</b>	<b>5 subtract 4 are 1</b> <b>Write the sentence using subtraction with – and =</b>
<b>Four is subtracted from Six are Two</b> <b>Write the sentence using subtraction with – and =</b>	<b>8 minus 6 equals 2</b> <b>Write the sentence using subtraction with – and =</b>
<b>Five is subtracted from Six is One</b> <b>Write the sentence using subtraction with – and =</b>	<b>Five minus Two equals Three</b> <b>Write the sentence using subtraction with – and =</b>